~ Mathematics 100 Test #3A Name: SoLuTl ON S

CAMOSUN
COLLEGE Instructor: George Ballinger

Term: Fall, 2009

| The Sharp EL 53 IW ca.lculator may be used on th1s test.

{ Show all of your work in the space provided.

| The number of marks for each question is indicated in brackets.

1. Evaluate the following integrals.
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2. Consider the integral j(x3+4)abc. |
0

(a) Evaluate the integral by using the Fundamental Theorem of Calculus.

‘ X
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(b) Evaluate the integral by using the limit of a Riemann sum definition of a definite integral:
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- 3. The acceleration of an object is given by a(f) =sin¢. If its initial velbcity is 0, then find its velocity at titne

t=7.
V= a(f}o‘f?fs‘mf ot = —Cost C

V=0 when T =0
2 0=-—ceso+C
[3] o =—\+C
C= |

060 fo ’Co?’é + ‘

w&,w 4= Ve-cCos 4] = [+1=

4. Suppose fis a differentiable function that has an inverse f T £(2)=9, f9) =2, f'(2)=-13,and
f'(9) = -6, then evaluate (f)'(9).
)=
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S. Find the exact value (no decinials) of the definite integral J
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6. Use logarithmic differentiation to differentiate y = x**.
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7. Find all critical numbers of the following functions.
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(b) F(x)= ]5'(: +2)* dr
1

Pl = 570+ |
F((\(\ =0 \,(QU«\ = -3
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